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3 0.003ppm
2 3 0.006ppm
0.04ppm
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Ppm ppm
0014 0040 | === === === == %= %" %"= mmmmm = —
0.012 - -
0010 |- 0030 - _
0008 | -
0.020 - "7 oomom
0.006 [0.005 0.005 0.005
0.004 0.004 0.004 0.004
0004 0.003 0003 0.003 0010 |
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H6 H7 H8 H9 HI10 H1l H12 H13 H14 H15

0.016ppm
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0.035

0.030
0.025
0.020
0.015
0.010
0.005
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ppm
14
12
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0.8
0.6
04
0.2
0.0

98 0.030 0.037ppn

H6 H7 H8 H9 H10 H1l H12 H13 H14 H15

2 0.8ppm
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1 1 0.06ppm

ppm
0050 800 rlg2s|
700
0.040 0.037 I
22 00an 0.030 o0
. 0.029 0 0.029 L
0.030 0026 0.028 0.028 0.028 500 gl
400 H 110 %
0020 300 |
294 284
200 H 52
0.010 — =
100 m
0.000 0 d L N N
H6 H7 H8 H9 HI10 H1l H12 H13 H14 H15 H6 H7 H8 H9 HI10 H1l H12 H13 H14 H15
15 6 1

15

0F [ 12 0.08ppm [ 0.12ppm | 0.24ppm | 0.40ppm
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7 7
5 6
4| |4
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4 0.026mg/m
2 0.051 0.058mg/m 0.10mg/m



mg/m3
0.080
0.070
0.060
0.050
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ppmC
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1 1 0.04ppm
1 0.1ppm
1 1 10ppm
1 8
20ppm
1 1 0.10mg/m¢ jam
1 0.20mg/n
1 0.06ppm
1 1 0.04ppm
0.06ppm
)
1 0.1ppm 1
0.04ppm 1
2 0-04ppm
0.04ppm 0.04ppm 2
1 8 1 8
3 20ppm 1
10ppm 8
2 10ppm 10ppm
10ppm 2
1 0.20mg/m? 1
0.20mg/m? 1
2 0.10mg/m?
0.10mg/m? 0.10mg/m 2




5 2 1 0.06ppm
0.06ppm
98 0.06ppm 0.06ppm
1 2
2 1
2 1 2
365 365><0.02 7
8
98 1 98 365
365><0.98 358
1 1 24 4
20
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5 20 1
51 8 13
1 0.06ppm 6 9
3 0.20ppmC 0.31ppmC ppmC
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1 2 5 o
0.002 0.004 0.01 o
0.02 0.06 0.2 o o
0.01 0.05 0.2 o
0.009 0.03 0.1 o
0.005 0.02 0.07 o
0.05 0.1 0.5
0.4 0.8 2
0.03 0.07 0.2
0.001 0.002 0.006
0.0009 0.002 0.004
0.001 0.004 0.01
0.05 0.1 0.5 o
0.009 0.03 0.08 o
0.02 0.07 0.2 o
0.009 0.02 0.05 o
0.003 0.006 0.01 o
0.9 4 20 o
3 7 20 o
1 3 6 o
10 30 60 o
1 2 5 o




ppm 100
43 100 2
( 41 1 4 1
44 58 6 1
(@]
=0.108><He >Cm Nm
He
Cm
mg/e
/Sec Q 0.001 0.001 Q 0.1 0.1 Q
2.5 3.0 3.5 2.5 3.0 3.5 2.5 3.0 3.5
0.03 0.06 0.2 0.007 | 0.01 | 0.03 | 0.001 0.003 | 0.007
0.1 0.3 1 0.02 | 0.07 | 0.2 0.005 0.02 0.05
0.3 2 6 0.07 0.3 1 0.01 0.07 0.3
0.6 2 6 0.1 0.4 1 0.03 0.09 0.3
Q /Sec
* 0.002mg/€
)
7
15 45
5

15
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pH BOD SS DO
50
6.5
8.5 1mg/€ 25mg/e 7.5mg/e MPN/100me
6.5 1,000
’ 8-5 2mg/e 25mg/e 7.5mg/e MPN/100me
6.5 5,000
g ) c 3mg/e 25mg/e 5mg/e MPN/100me
6.5
8.5 5mg/e 50mg/€ 5mg/e
6.0
8.5 8mg/e 100mg/€ 2mg/e
6.0
10mg/€ 2mg/e
8.5 g g
1
2
3
1
2
3 B
1
2
3
1,000
pH coD SS DO
6.5 50
85 Imng £ Img & 7.5mge / MPN/100me
’ 6.5 1,000
85 3mg € 5mg € 7.5mg/€ MPN/100me
82 Sng & 15mg @ 5img/e
g:g 8mg £ 2mg/e




[EEN

1
3
1
2
3
1
2
1,000 4
0.1mg 0.005mg &€
( 0.2mg 0.01mg €
0.4mg 0.03mg &€
0.6mg £ 0.05mg &€
Img &€ 0.1mg &€
1
2
3
1
2
3
@
2
@ S54.2.23
@ S58.2.22
H5.4.2
H16.4.2




0.01 /¢ 1,1,1- 1 /¢
1,1,2- 0.006 /¢
0.01 /¢ 0.03 /e
0.05 /¢ 0.01 /¢
0.01 /€ 1,3- 0.002 /e
0.0005 /¢ 0.006 /¢
0.003 /¢
0.02 /¢
0.02 /¢ 0.01 /¢
0.002 /€ 0.01 /e
1,2- 0.004 /¢ 10 /¢
1,1- 0.02 /¢ 0.8 /¢
-1,2- 0.04 /¢ 1 /¢
15 16 15

10




10 <0.001 0 0.01 /8

10 ND 0
10 <0.001 0.002 0 0.01 /8
10 <0.01 0 0.05 /8
10 <0.001 0 0.01 /8
10 <0.0005 0 0.0005 /¢
10 <0.0002 0 0.02 /8
10 <0.0002 0 0.002 /8
1,2- 10 <0.0002 0 0.004 /8

<0.0002
1,1- 10 0.0009 0 0.02 /8
-1,2- 10 <0.0002 0 0.04 /8
1,1,1- 10 <0.0002 0 1 /8
1,1,2- 10 <0.0002 0 0.006 /8
<0.0002
10 0.0029 0 0.03 /8
10 <0.0002 0 0.01 /e
1,3- 10 <0.0002 0 0.002 /e
10 <0.0006 0 0.006 /e
10 <0.0003 0 0.003 /e
10 <0.002 0 0.02 /8
10 <0.0002 0 0.01 /8
10 <0.002 0 0.01 /8
10 <0.1 7.0 0 10 /8
10 <0.1 0.1 0 0.8 /e
10 <0.01 0.04 0 1 /8
ND:
)
6
14
16 31 322
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27 46 53 63

65 66
0.4
5.8 8.6 58 86

25(20) /8 70(50) /0

160(120) /8 160(120) /P

> /e | 5 /e

( )| 30 /P 30 7

5 /8 5 /0

3 /8 3 /0

> /£ | 5 /2

2 /8 2 /0

(3000) / 3 [(3000) VA

120(60) /¢ | 120(60) /e

16(8) /8 16(8) )

50
10 7/
21 46 66
10 /
2
80
2
1

il 80.3 82.0 838 846 85.4 86.4 87.3 88.3 89.2

g0 | 767 781
%

70 b
60
50 |
40
30 b
20 -

10 -

H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15



@
PCDD
PCDF PCB
10
14 26
2 4 0.055pg—
TEQ/ 3 0.054pg—TEQ/ 3
pg—TEQ/ 3 pg—TEQ/m3
06 [ === - mmmm e
05 r __:__
6 8 11 2 04 r
03 r
02 r
0.033 | 0.042 | 0.087 | 0.057 | 0.055 o | ><\_\<
06 0.0 ! : * * :
0.022 0.043 0.084 0.065 0.054 H10  H11  H12  HI3  H14  HIS
10 11 PCDD PCDF
10 I-TEF
WHO TEF 1998
)
3 1 pg—TEQ/€
0.31 0.35pg—TEQ/®
0.35
0.32 1
0.31
)
3 1 pg—TEQ/g
0.87 1.5pg—TEQ/g
0.87
0.96 150
1.5




()

5 1 pg—TEQ/®
0.070 0.11pg—TEQ/€
0.11
0.071
0.071
0.070
0.072
5 1 pg—TEQ/g
0.0018 1.6pg—TEQ/g
0.10
0.0018
0.045 1,000
0.044
1.6
)
15
1.4
/me 1.7 /m 3 /mt
0.65  /m* 0.474 /m? 0.35
b /m* 0.45m /md 200l /m?
2.0 /m* 2.5 /m? 150 /m3
y 1.4 0.90 2.2 1.7 0.97 2.6 3
3] 0.65 0.16 1.4 0.47 0.21 0.88 200
J 0.35 0.11 0.71 0.45 0.23 0.77 200
J 2.0 <2.0 4.3 2.5 <2.0 3.9 150
u <0.10 | <0.10 | 0.12 | <0.10 | <0.10 | <0.10 2
u 2.4 | 0.8 | 11 25 | 1.3 | 3.5
u <0.10 | <0.10 | 0.12 | <0.10 | <0.10 | 0.50 10
J 0.25 0.14 0.44 0.40 0.18 1.1
1,2 y 0.04 | <0.04 | 0.11 | 0.05 | <0.04 | 0.10
2.0 1.8 2.6 2.1 1.8 2.7 40
<4 <4 9 <4 <4 7 25
2.1 0.71 4.9 2.4 0.65 4.1
1,3 y 0.16 0.08 0.28 0.24 0.10 0.44
<0.4 <0.4 <0.4 <0.4 <0.4 <0.4
0.19 | 0.061 | 0.33 0.28 | 0.093 | 0.51
J 2.4 <0.8 6.0 2.9 1.6 5.1
n 30 <10 73 24 <10 35
n 3.6 <1.0 10 3.3 <1.0 6.5




f/e] 0.27 | 0.14 | 0.47 | 0.34 | 0.25 | 0.44 | 10
€)
)
14
1
15 13
7
3
15 12
45 39
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33 224 %

lJJ.J — 63 429
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14 95 T8
31 211
37 (25.2%) 28 (19.0%) 17
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